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IMPORTANT INSTRUCTIONS

@) The question paper is in the form of Test-Booklet containing 64 (sixty-four) questions. On receipt of the Test-
Booklet, the applicant must immediately check and ensure that it contains all the questions. Discrepancy, if any,
should be reported to the invigilator immediately after receiving the Test-Booklet. A separate answer sheet is also
provided along with the test booklet, containing Part 1 and 2.

(ii))  Out of 64 questions, 60 are MCQs. Each MCQ carries four answers marked (a), (b), (c) and (d), out of which
only one is correct. For answering these MCQs i.e., Q 1 to 60, an applicant has to use Part 1 of the Answer-
Sheet, having 60 rows containing four circles each. To mark the answer, an applicant must darken the
appropriate circle in the row of each question with Blue or Black pen. Please note that for each question only
one circle should be darkened as a mark of the answer chosen by the applicant. If more than one circle for the
question is found darkened or if any other circle carries any other mark, the question will be treated as
cancelled.

(iii))  Another 04 questions, i.e. Q 61 to 64, are subjective types questions. For answering these questions, an
applicant has to use Part 2 of the Answer-Sheet. Please note that the answers of these questions must be
limited to be written on the answer sheet in the provided space only. The applicant MUST NOT write
the answers anywhere else.

(iv) The candidate should write his/her details at the places provided on the cover page of the Test-Booklet/Question
Paper and on the Answer-Sheet and NOWHERE ELSE.

(v)  No second Test-Booklet or Answer-Sheet will be provided. The applicants are advised to be careful in handling it
and marking the answer on the Answer-Sheet.

(vi)  For every correct answer of the question (Q1 to 60) One (1) mark will be awarded. For every un-attempted question,
Zero (0) mark shall be awarded. There is no Negative Marking.

(vii) Marks are indicated against each question from Q 61 to 64. Marking shall be done on the basis of answers responded
only on the provided space of the Answer-Sheet.

(viii) The candidates should not remove any paper from the Test-Booklet. Attempting to remove any paper shall be liable
to be punished for use of unfair means.

(ix) Rough work may be done on the blank space provided in the Test-Booklet only and nowhere else.

(X)  Mobile phones (even in Switch-off mode) and such other communication/programmable devices are not allowed
inside the examination hall.

(xi) No candidate shall be permitted to leave the examination hall before the expiry of the time.

DO NOT OPEN THIS QUESTION BOOKLET UNTIL ASKED TO DO SO.
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1.  Find the correctly spelt words.
(a) Puerrile

(c) Purrile

2. Find the correctly spelt words.
(a) Inoculation

(¢) Inocculation

(b)
(d

(b)
(d

Puerrille

Puerile

Innoculation

Inocullation

Directions (Q. 3-4) : Choose the part of sentence with error

3. The Ministry has directed banks / to do away with their / separate promotion policies, a move /

strongly opposed by the officers' unions.
(a) The Ministry has directed banks

(b) to do away with their

(c) separate promotion policies, a move

(d) strongly opposed by the officers' unions

4. Do not trouble / yourself about writing to me / unless you are quite / in the humour for it.

(a) Do not trouble

(c) unless you are quite

(b)
(d

yourself about writing to me

in the humour for it

Directions (Q. 5-6) : Choose the word/group of words which is most similar in meaning to the word/

group of words given in question :

5. Downturn
(a) operose

(c) abetment

6.  Persistent
(a) merciful

(c) intermittent
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(b)
(d

(b)
(d

aeonian

descent

tenacious

relenting
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Directions (Q. 7-8) : Choose the word/group of words which is most opposite in meaning to the word/

group of words given in question.

7.  Foreclosure

(a)
(©)

preclude (b) legalize
deprive (d) allow

8.  Skeptical

(a)
()

dubious (b) dissenting

convinced (d) cynical

Direction (Q. 9-11) : Which of the following phrases (I), (Il), and (III) given below each sentence
should replace the phrase printed in bold and Italic letters to make the sentence grammatically correct?

Choose the best option among the given alternatives that reflect the correct use of phrase in the context

of the grammatically correct sentence.

9. Every Open House we held since 2013 reaffirmed our belief that there is a need for human

intervention to retain its trust and credibility over the age of anonymous communication.

)
(D
(III)

(a)
(b)
(©)
(d)

to retain trust and credibility in this age of
to retaining trust and credibility ageing

for retention of trust and credible age of

Only (I) is correct

Only (III) is correct

Both (I) and (II) are correct
Both (II) and (III) are correct

10. How it is possible for a multi-edition newspaper to produce completely different newspapers for

various cities?

)
(D
(III)

(a)
()

Translator

Is it possible for
Does it possible to

How is it possible for

Only (I) is correct (b) Only (II) is correct
Only (III) is correct (d) Both (I) and (III) are correct



11. Tt is a process where continuity and change are in consonance with each other, where the
introduction of a new segment does not subsume the importance of the existing segments.
(I)  is in consonance with one another
(I) are in consonant to one another

(IIT) is in consonance at each other

(a) Only (I) is correct (b) Only (II) is correct
(c) Both (I) and (III) are correct (d) No correction required

Direction (Q. 12-15) : Below in each question some sentences are given, find the sentence which is
not really contributing to the main theme and of the passage or find the odd sentence out and rearrange
the remaining sentences to make a coherent paragraph.

12.  (A) keep their inner life (B)/ Tightly under control (C)/ Educational institutions seldom serve as
precise mirrors (D)/Of historical change because pedagogic and administrative rituals (E)/ That
have nicely preserved an empty shell of a special inherited identity
(@) CEDB (b) CDEB
(c) CDAB (d) None of these

13. (A)Most importantly the labour market'(B)/We can expect to see continued spillovers (C)/Into
other areas of the economy, (D)/Combined with a 'broader unravelling of credit markets,
(E)Parliament should act quickly to keep the economy from stalling
(a) DECA (b) DEAC
(c0 ECBD (d) No correction required

14.  (A) And act judiciously to bring the economy back on track(B)/The start-up ecosystem cannot
progress in a disturbed business cycle(C)/The economy appears to be in a shambles(D)/ Leaders
in the government are failing to recognise the pessimism(E)/ And despite the gloomy forecasts
for the future,

(@) DAEB (b) BEDA
(c) CEDA (d) None of these

15. (A)Even at the risk of reducing an appraisal(B)/ It strove to make this evident, (C)/Of a great
writer such as Ishiguro to a trite high school essay (D)/While announcing the name, (E)/ That
came its way last year

(a DBAC (b) ACBE
(c) DCBE (d) None of these
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16. 'ordinance' w1 &=t uRwifrer e @
(a) SAfeEvE (b) STEARY
() orefee (d) sfRw

17. 'Amplitude’ &1 fe=<i Tt ot ®

(a) SIHL (b) g
OREENCED d) sm™

18. WM I faftmed & omuR W 9 uRmm § W fa=@ omdt 2, sus @R frefafed
T % IW D TEl foked w gAU

(31) g7 ITH1 BA TS @

(9) oT=sf &t Gfd H =D | SR

(a) UEd 9§ fpan favmo @ weafw g o @
(b) UEA I § T T Wl g § R fawmon
() Ued o # T € st g |

d) vEe aE § fownfdiys @ @ g § fwa

19. {@Eifrd ] & AR IRew & 3faa fowen w1 ghw
T fasft & @ 9 TR
(a) 3T, Heueigsd ‘fuaet’ o ‘Oet’ § He
(b) TSI, GH=AIAIHE®: THMIEHRII
(c) 3Td, UH=agdIds ST
(d) 37T, Heuetd ‘a=a’ iR faarl’ o g

20. 39 fokheuw @1 ghu fom o acgew w9 A @
(a) TR difed ORERES

(c) ST (d) angd
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21. ‘sSfw=’ @ @y fa==g w0 sm?
(a) Sa+fow (b) Sa+fere
(c) Su+fome (d) T+

22, Trefafead § @ eR-® fowey JUE &1 3[R B
(a) ofeeff (b) e
(c) 9= d) TEH

23. fr=fafes & @ =o€ dm v 9aRT fNEe @Y SuEd R YO <Al %1 §EN gl @
(a) HHEE (b) HHE
(c) 3R (d) foafea

24, ffafed & @ 9@ d®@d #1 TE Sl wE-A@ T 2?2
(a) TR-:< (b) JR-THMR
(c) w-3E d) <fu-z&

25. frafafes & @ wE adt oon v

(@) g (b) IAW
(c) I (d) IR

26. Trfaed & W ®iA-w 9 SEY ©?
(a) ST 9OK HI St @
(b) @S H WH-3F §gd g0 Fae 2
(c) TH FaAl 1 HE A IRV
(d) 9% Wed WA TRl ¥ I 2
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27.

28.

29.

30.

31.

32.

frafafed & ¥ ®H-w 9= JEY ?
(a) HIA IS KT TR a7 H1 FA hL
(b) TS T TTHM A HI FA H
(c) S 1 STAHNT 34 &I FA
(d) 3TN &1 FIAT STIHT 39 HI FA H

S IO O B C A 2 I 1 e e A2 B o1 B B
() T 3@ 9t W & @ FT SHIF Tl e

(b) T *1 T@ THEH & fou R A foard weT omevaw ©

(c) oo wed W & @+ W F1 9T e 2

(d) TH *1 99Tk T IS A

59 9= % ®® Wt =@ F e@ @ 94 M FEoAd ©
(a) fad o= (b) Afgel vy
(c) dfk v d) TrTEE W=

S9 q VSR W TR Wefw iR U fRdw v @ W awl wH-@ fow wgE fEA
S @7

@ fow == (b) oi formm

(c) I~ o= d) <@ o=

Which is India's first large state to record 100 per cent first-dose vaccinations?
(a) Telangana (b) Odisha
(c) Tamil Nadu (d) Karnataka

Which state governments signed agreement to rejuvenate the Saraswati River by constructing
Adi Badra Dam?

(a) Haryana - Himachal Pradesh (b) Gujarat - Rajasthan
(c) Haryana - Punjab (d) Himachal Pradesh - Delhi
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33.

34.

35.

36.

37.

38.

39.

Which country is the host of the 2022 Winter Olympics?
(a) Japan (b) China
(¢) Russia (d USA

Who was Google's most searched-for personality in India in 20217
(a) Neeraj Chopra (b) Elon Musk
(¢) P.V. Sindhu (d) Mirabai Chanu

What is the time taken by the earth to complete one rotation about its axis with regard to a
fixed star?

(a) Sidereal day (b) Solar day
(¢) Shake (d) Tropical year

Ajit has a certain average for 9 innings. In the tenth innings, he scores 100 runs thereby
increasing his average by 8 runs. His new average is .......

(@ 20 (b) 21
(c) 28 (d) 32

What is the least number of soldiers that can be drawn up in troops of 12, 15, 18 and 20 soldiers
and also in form of a solid square?

(@) 900 (b) 400
(c) 1600 (d) 2500

If a man were to sell his chair for Rs. 720, he would lose 25%. To gain 25% he should
sell it for ......

(@) Rs. 1,200 (b) Rs. 1,000
(c) Rs. 960 (d) Rs. 900

Find the difference between the simple interest and the compound interest at 5% per annum
for 2 years on principal of Rs. 2000.

(@ 5 (b) 10.5
() 45 (d) 5.5
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40.

41.

42.

In the Bombay Stock Exchange there are 45% female employees and thus the number of male
employees is exceeded by 72. Hence the total no. of employees in the BSE is ......

(@) 540 (b) 720
(c) 800 (d) 550

Two pipes A and B can fill a tank in 36 min. and 45 min. respectively. Another pipe C can empty
the tank in 30 min. First A and B are opened. After 7 minutes, C is also opened. The tank filled

up in ......
(@) 39 min. (b) 46 min.
(¢) 40 min. (d) 45 min.

Two trains for Mumbai leave Delhi at 6 am and 6.45 am and travel at 100 kmph and 136 kmph
respectively. How many kilometers from Delhi will the two trains be together?

(@) 2624 km (b) 260 km
(c) 283.33 km (d) 275 km

Choose the best option to fill in the blanks.

43.

44,

45.

Elders ..................

(a) should respect (b) should be respect

(c) should be respected (d) should have been respected
Girls have been teasing boys .................. 20 minutes.

(a) since (b) for

(¢) from (d) in

Kites ...cccoveeenene last year also.

(a) did fly (b) were flown

(c) flew (d) flying
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47.

.................. Sagar Samrat is .................. big ship

(@ A, a (b) A, the
(c) The, a (d) The, the
He felt no .....c..c....... as he plunged the knife into her back.
(a) qualms (b) scruple
(c) conscience (d) morals

Choose the correct option as Indirect speech of the following sentence:

48.

49.

50.

51.

He said, "I have often told you not to waste your time."

(a) He said that he had often told not to waste your time.

(b) He said that he had often told him not to waste your time.

(¢) He said that he had often suggested to him not to waste his time.
(d) He told that he had often told him not to waste his time.

In a certain code, cloud is written as GTRKF. How is SIGHT written in that code?
(a) UGHHT (b) UHJFW
(c) WFIGV (d WGIHV

Find ? in the series 1, 2, 6, 7, 21, 22, 66, 67, ?
(@ 70 (b) 134

(c) 201 (d) 301

Arrange the words given below in a meaningful sequence.

1.  Poverty

2. Population

3. Death

4. Unemployment

5. Disease

(@ 2,3,4,5,1 (b) 3,4,2,51
c© 2,4,1,53 d 1,2,3,4,5
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52.

53.

54.

55.

56.

Choose the word which is different from the rest.
(a) Tortoise (b) Duck
(¢) Snake (d) Whale

A family went for a vacation. Unfortunately, it rained daily for 13 days when they were there.
But whenever it rained in the mornings, they had clear afternoons and vice versa. In all, they
enjoyed 11 mornings and 12 afternoons. How many days in all did they stay there?

(@ 15 (b) 18
) 20 (d 25

One morning after sunrise Nivedita and Niharika were talking to each other face to face at
Dalphin crossing. If Niharika's shadow was exactly to the right of Nivedita, Which direction
Niharika was facing?

(a) North (b) South
(c) East (d) Data is inadequate

Find the number of triangles in the given figure.

(@) 12 (b) 18
(c) 22 (d) 26

What is the minimum number of different colours required to paint he given figure such that no
two adjacent regions have the same colour?

(@ 3
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Directions (Q. 57-60) : Read the following passage and answer the Questions :

57.

58.

59.

60.

A builder will build five houses in New Housing Scheme on a street that currently has no
houses. The builder will select from seven different models of houses - L, M, N, O, P, Q
and R. The Development Authority has placed the following restrictions on the builder: No
model can be selected for more than one house. Either model O must be selected or model R
must be selected, but both cannot be selected. If model Q is selected, then model N cannot be
selected. If model M is selected, then model O cannot be selected.

If model M is one of the models selected for the street, then which of the following models must
also be selected?

(@ L (b)y O

© P @ R

If L, M and P are three of the models selected for the street, then which of the following must
be the other two models selected?

(@ Nand O (b) Nand Q

() Nand R (d O and Q

Which of the following is an acceptable combination of models that can be selected for
the street?

@ L,M,N,PQ by L,M,PQ R

(¢ L N, PQR (d M, N, O,PQ

The model R is one model not selected for the street, then the other model NOT selected must
be which of the following?

(@) L (b) M

() N @ O
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61. Translate the given passage into Hindi : (10)
Do children really need such long summer breaks, was a question posed by some experts
recently. Apparently, such a long break disrupts their development and comes in the way of their
learning process. Let's get them back to their books, is perhaps the expert view, if not in so many
words. One would have thought the children are doing too much during their vacations and not
too little, given the plethora of classes, camps and workshops involving swimming, art, personality
development, music, computers and the like that seem to cram their calendar. Even the trips taken
in the name of holidays seems laden with exotic destinations and customised experience packed
into a short period of time. We can do Europe in ten days and Australia in a week and come
back armed with digital memories and overflowing suitcases. Holidays are in some ways, no
longer a braeak but an intensified search for experience not normally encountered in everyday
life. It is a far cry from summer holidays one experienced while growing up. For holidays every
year meant one thing and one thing alone — you went back to your native place, logged in with
the emotional headquarters of your extended family and spent two months with a gaggle of
uncles, aunts and first and second cousins.

62. Trfafed AT #1 St ¥ AR &RT : (10)
TAR 39 F UEA Uk Ggd 9<! GHEN Gl enfifs o 9 gt madsl @ W s e
% fou & I e % fowm w1 2 oW wE ¥ fovefogaem fofaw wm @ @
gl fogamal @ favafocaemdl & o & oEdN W SO SHYTEFEMAl 1 hRUl S
Ig 33 9Ol © fF S SdigRY, USHIfae IR WeIEe, teAms SR furenfag s feemwi
I ommerTeNe FT SUMT HIA T SART SIGIRN HI gl A4 feufd # oo stfusr weR =
e 21 o WEl wHA o W € TR SRl andionh @HenS w1 favelvwr 9 frewor &
% fau T=9 o feu WM 9 39 wH I AT

63. Write an essay of around 300 words on any of the following topics : (10)
(1) "Euthanasia : Pros and Cons".
(i) "Social Networking Sites : Pros and Cons"
(iii) Artificial Inteligence is a real threat.

64. T T fowai ¥ @ fdt w foma w— @mam 300 st @1 fraey fafew . (10)
() g fmior o feres @1 AEEI
(i) T % TR BR T, W & Sd Sl
(i) wfeq IRm u" T& 96
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ROUGH WORK
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ROUGH WORK
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